Note

We estimated “perception of new daily cases (y)” by assuming y is a function of “actual new daily
cases (x)”. We denoted: % = (x-y)/14 as long as x > y; and % = (y-xX)/14 as long as y >= x.

We calculated “percentage change of new daily cases (z)” by assuming: z = (x/y) - 1
We assumed z is a function of “percentage change in contact frequency given no vaccination (j)”
as appears in the graph.
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We assumed that for the vaccinated people, the “percentage change in contact frequency given
vaccination (k)” is double the size of j.

We multiplied (1+j) with reproduction number of the non-vaccinated group and (1+k) for the
vaccinated group.



